SIG FIG Review

A. Read from the left and start counting sig figs when you encounter the first non-zero digit

1. All non zero numbers are significant (meaning they count as sig figs)

613 has three sig figs

123456 has six sig figs

2. Zeros located between non-zero digits are significant (they count)

5004 has four sig figs

602 has three sig figs

6000000000000002 has 16 sig figs!

3. Trailing zeros (those at the end) are significant only if the number contains a decimal point; otherwise they are insignificant (they don’t count)

5.640 has four sig figs

120000. has six sig figs

120000 has two sig figs – unless you’re given additional information in the problem

4. Zeros to left of the first nonzero digit are insignificant (they don’t count); they are only placeholders!

0.000456 has three sig figs

0.052 has two sig figs

0.000000000000000000000000000000000052 also has two sig figs!
Sig Fig Practice
Determine the number of sig figs for each:

1.  469.3
2.  0.0065

3.  513000
4.  0.000035

5.  0.78 x 104
6.   121 x 10-3
7.  25000
8.  350 x 102
9.  0.078 x 10-3
10.  0.0023 x 102
11.  5700 x 10-8
12.  731 x 10-6
Significant Figures:

How many significant figures do the following measurements contain?

13.  1.0003 cm
14.  0.00034 m

15.  299 inches
16.  300 inches

17.  301 inches
18.  300.0 inches

19.   301.0 inches
20.  0.000300 m

Perform the following operations  rounding to the correct number of significant digits.

21.  24 cm x 3 cm
22.  144 m/1.1 s

23.  3.000 m x 1.5 m
24.  401m / 2m

25.  1.45 cm + 2.3 cm
26.  123 m – 5.5 m

27.  8.09 m + 159 m
28.  155-2

29.  689.0 m – 680 m
30.  52.8 m + 2.2 m

